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Question: 1 
   
You work as the Network Administrator for a company. You configure a Windows 2000-based computer 
as the Routing and Remote Access server, so that users can access the company's network, remotely. 
You want to log a record of all the users who access the network by using Routing and Remote Access. 
What will you do to log all the logon activities? 
Response: 
 
A. On the Routing and Remote Access server, enable log authentication requests in auditing, and define 
the path for the log file in Remote Access Logging. 
B. On the Routing and Remote Access server, enable log authentication requests in Remote Access 
Logging. 
C. On the Routingand Remote Access server, enable log authentication requests in auditing. 
D. Do nothing as the Windows 2000-based Routing and Remote Access server automatically creates a 
log record for each connection attempt. 
 

Answer: B     
 

Question: 2 
   
What are the purposes of audit records on an information system? 
(Choose two) 
Response: 
 
A. Upgradation 
B. Backup 
C. Troubleshooting 
D. Investigation 
 

Answer: C,D     
 

Question: 3 
   
You are the Security Administrator for an Internet Service Provider. From time to time your company 
gets subpoenas from attorneys and law enforcement for records of customers' access to the internet. 
What policies must you have in place to be prepared for such requests? 
Response: 
 
A. Group access policies 
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B. Backup policies 
C. User access policies 
D. Storage and retention policies 
 

Answer: D     
 

Question: 4 
   
In which of the following attacking methods does an attacker distribute incorrect IP address? 
Response: 
 
A. DNS poisoning 
B. IPspoofing 
C. Mac flooding 
D. Man-in-the-middle 
 

Answer: A     
 

Question: 5 
   
The routing algorithm uses certain variables to create a metric of a path. It is the metric that actually 
determines the routing path. In a metric, which of the following variables is used to define the 'largest 
size' of a message that can be routed? 
Response: 
 
A. Load 
B. MTU 
C. Hop count 
D. Bandwidth 
 

Answer: B     
 

Question: 6 
   
Mark works as a Database Administrator for MarLinc Inc. How will he execute a SQL command from the 
SQL buffer? 
Response: 
 
A. Enter an asterisk (*) 
B. Enter a semicolon (;) 
C. Press [ESC] twice 
D. Press [RETURN] twice 
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E. Enter a slash(/) 
 

Answer: B,E     
 

Question: 7 
   
In a network, a data packet is received by a router for transmitting it to another network. For forwarding 
the packet to the other available networks, the router is configured with a static or a dynamic route. 
What are the benefits of using a static route? 
Response: 
 
A. It is a fault tolerant path. 
B. It reduces load on routers, as no complex routing calculations are required. 
C. It reduces bandwidth usage, as there is no excessive router traffic. 
D. It provides precise control over the routes that packets will take across the network. 
 

Answer: B,C,D     
 

Question: 8 
   
What are the different categories of PL/SQL program units? 
Response: 
 
A. Default 
B. Unnamed 
C. Primary 
D. Named 
 

Answer: B,D     
 

Question: 9 
   
Which of the following is a technique for creating Internet maps? 
(Choose two) 
Response: 
 
A. AS PATH Inference 
B. Object Relational Mapping 
C. Active Probing 
D. Network Quota 
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Answer: A,C     
 

Question: 10 
   
An attacker wants to connect directly to an unsecured station to circumvent the AP security or to attack 
the station. Which of the following tools can be used to accomplish the task? 
Response: 
 
A. Wireless card 
B. MacChanger 
C. SirMACsAlot 
D. USB adapter 
 

Answer: A,D     
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